Nante: &f.,/ 12/15/2017 Trig — Semester Test
1} Stmplhify the following expressions and write it with positive exponents:
: a) x4-y2(4x2y—8) i (x y3) it
@/ "y -, b) xSy-* —’ZT
Syt A

@ 2) State the domain and range of the lollowing relation AND state whether or not it is a function.
a){(2,—1),(—3,4),(54},(2,-2 3 oy g 2 g .
HE-DEDOH@-D) D 532,57 g5z

ff‘l‘f‘ ‘{11'7("-‘-; é:rl

‘2: 3) Given the function: f{x) = 2Zx — 5, find its inverse.

g e K
~4) Solve the following inequalities and write your answers in interval notation.
P a)2x+1<9 ey e piplymmr by4x +5=28x 9 1§ 2L, -
C/ R w2 T Ry Y Cersy
L " 7 T X< 35 -
~5) Determine if the foltowing functions are inverses of each other. P
-10+x 2o
5) vers, 000 =200 =3c+10 =55
. k"—//‘ " e r/l’ ?L{] .
ST kwix gy,

6) Simplify the following radlcals

&) “)"2”‘ v’ v o@rai LT LN T

Q 19"'\_{{?‘“
7 Use the formula 5 = r6 to find the missing variable in the following problems. A
@\a)s=4ftr—2ft ]b)s—ﬁfte— é"—f‘f:( c)r=28m,8 =60 5-8% %
P ) [ thi e
/ VY @ 76%# $2 837,

8) Find the distance between the following points AND thc midpoints. Write your answers in lhe
simplest radical form. ( -i) n of = u(b ’
’ =5 - / ?‘
Cg/) a) (—1,—2)&(5,=7) AT ,-j—:*""“i 2| b) (1,4) & (6,-8) ( 2 ‘J
Tz Joe / { I) !k? 2) .
N Usmg_ll%é—brngreﬁﬁ"thc—n - ue;wen fill in the following chart. ﬂl/
3 i i
Trnig Function |a)a=2,c=3|bja=4,h=3
~ sin 8 2/ 2 /5>
@ . cos Js7'3 ] 35
sec 35 s 37 V'3
cot 8 Je/ 3 3/

LA 4y

- 10} Use completing the square method to put the equation of a circle in standard form. o
CJ x?—6x+y*+12y —16 =3 Xhexr_L F 3 wa% =747 7

.3{ é‘- ;o S(
(7t) (x-3) *(yré)~ci,
__ 11) What is the average rate of change going from f(3) to f(x) of the function:
3 flx)=axt2 f6)-¢C) T2 =l g
" / X7 A2 ;’"? L
12) A wheel is turning 30 revolutions per minute. If the radius is 4in, what is the linear speed of (a2
the wheel?

VT

§ ;Q-”i‘.b’ 27 @&Mf {Z}-/ oo i
C,) min || ey T i 1
m J/%r} 7.



13) Given the following sets of points and graph, 1) Is it a function? 2) Find the inverse., 3) ls.)/&’s

the inverse a function? o
(122, (1,-.(0,6))  EDG2, (1) (€0)S

14) Convert the following from seconds and minutes to decimals.

@ 2 1967187 .10 [B)25°159" 55 w350,
(- )
(%2)

15) Use the following graphs to answer the questions:
a) What are the intervals of increasing and decreasing? L -2, 0){/(2 @) H{ﬂ 3

@ b) What is the domain and range of the graphs? P,/ «) K. LO/ 2y

¢) What are your x- and y-intercepts? x - 2(20) R0) yo(e3) .
d) y@qymmetnc with respect to the x- ax1b@ or the origin?
-4 ¢-20) | @0 47

s e
- 16) Tell if the following functions are even, odd, or neither: 2
O a)f(x) =x*+3 H(x)~= (‘X) *3 |b)f(x)—x —-X é"";) ~{(~x)
Aefhg ==x’ X“ 4+ x At

17} Convert the following angles to degrees Put your answers in decimal form.

18) Convert the following angles to radians. Leave 7 in your answer.

a) 160° . 5T |b)—60°) 51 . —T | ¢)90° ~ X
O v - 2 jf?f 5 MR

19) State the domain of the following function rules.

@/} a) f(x) = 2x+28 2 b) f(x) = @m oAF—>

, ¥4 5 T ()

-] N it x-S 2ea)
Xt -t Goa,_ ~t)/(~14,2) Xfis' (
20) Given the following piecewise function, find each value. x2+1ifx<1
@a)fu):; b) f(0) = | oy f(S)=Y fX)=<{2+xifx=1
9—xifx>1

21) Fill in the following table for the angles given.

@ RN S

Quadrant: ﬁ/v 'ﬂfﬂz.‘ T . T ‘
sn@) | o) =L [tk
cos(8) C N/ B 2
tan(8) {,(n,;j ) + .VJ"“ 3 - } '
CSC(B) I 1 — 'l | +- 1;]_; 1

f t !

sec(6) uimj — 2-};/5 - v/;:*
cot{f) 9, £ ﬁ — |




Name: &Fe/ 2/2/2018 Trig — Test 4
I

a
1) Given the triangle above, find the missing values of the triangle for each situation.

Given: a b ¥ a b c
| Pz 100° 27791 | 3.3 6 4
b) | 94.9¢ 50° 25207 | e 8 6
ol  100° (o’ 20° 8 7.0 2., 7¢
& | _sF So” 2° 7 7 9
€) 40° 9, s 44.5° 2.57 4 3

2) Fill in the following table for the angles given.
2257

6 — a) —60° b) 245° c)%ﬂ 3L
Quadrant: ﬂ‘ Tﬂ“ ﬂ
sin(®  [— 35 | — 32l | W
@ |7 Y, |-k |- gz
tan(8) - J“;‘ + |
csc(8) »—-2_]}/5 — Jz — 2
sec(8) |+ o — J7 —_ ;ﬁ/g
o) |—Jyz |+ 1 [+ 3

3} Two forest rangers stationed 9.2 miles apart at points A and B in a mountain range observe the
same illegal campfire at point C some distance away. They mecasure angles CAB and CBA to be
45° & 65° respectively. How far is each ranger from the campfire?

4457 & 7o AC= 8571
A Ly pL =692
A pilot flew his airplane at a constant speed of 200??1%1 with a 120° heading. After one hour
7 of flying he changed the direction of his course to 72°. He continued in this direction for one and

one-half hours to reach his destination. How much farther was this flight than a straight-line
flight to his destination? 200 :

AS-C‘}D 2. L2 e R )
—~ e ( (= I Floy ”30"’(2“()&5({5%

o



5) A lishing boat adrift at sca indicated its position as 20 miles 536
A coast guard patrol boat indicated its position as 30 miles S8°W of the coast guard station. How

far was the patrol boat from the fishing beat?

6) Fill in the following table about the parent functions.

L= 307t 20

(C=26.0.

from a coast guard station.

2 30'.20{09(5{ ‘{)

Function Domain Range Min Max Period Symmetry | x-inter
Sip () (ELIT Q) |[(00) | Feo” | emge, | ©F 1N
Coo ey |l |(se) | (o) | e | y-ws |t i)
Tan (2,02) |90 |flone | nene. | 1407 | orign | O+ 894

exé'if‘?"a{ajd

m;h[;_ ‘30‘,
7) For the following trig functions, find their period.
a) cos(156) ‘ b) 6tan (%) ‘ ¢) —3cos(48)

10
I1S@ =30 ; 40= 30
© ::2&{0 o~ go

Q =1gv0°®

© =70



Name:

ﬁ't‘.t/ .

3/2/2018

Tri& -~ Test 5

b) (42.3 « 10*)(6.23 + 1071%)
R

e li 4 .
2675~ Xig :Zz,g,ﬁs“mrf)

1) Simplify the following and write your answer in scientific notation.
%

¢) (10° * 10"~ 2
e/

d) (7.54 « 1072)(3.45 * 10?)

26.01 x(o? = "2,4,0{' x i®
2) Give the name of the following units. i
a) dJ . o) km :
Jec |./0H.I;c'_’ i:’bmr&:
VML iy L Dectelrte

3) Give the abbreviation of the following units.

a) picowatt 7 W’

b) centimeter cm

¢) microsecond

A scc

4} One Step Conversions

8)0.0723 K t0) , 2] 5
22385 J O T
' I ok

5} Two Step Conversions
a) 936800 dm to Mm

1.365%10%n ] |

= ( 7.23 viel )
L/

k b? = c? 101+ tan?(8) = sec?(H),

a® L= ¢
— T T TR
b:.. }9 )p
fants | = Sec

, Lf?‘f JH:?,____‘ A .
|1 Hn %4’ (0547
f¢ o[ ipé m_ | (¥ ny .
[ e dnlio B e
)

se several Pythagorean [dentities to establish other identities. Show how you can go from

~J

d) milljoule

b) 445 s to ms
e 2
’ 7.4 Xio s / {'O? /s
i S

b) 0.4744 nJ to pJ




7) Basic Conyersions
a) 28.68 ¢ to‘)gal}' 'ff—

b) 0.004279g1c} bs { oz | !

)-(,‘?‘FJ(ﬁ{
[ 2 |

8) You have driven 9 + 101%mil in 1000hr. How fast were you going?
teeoh |40 miy [éos..

qxip “m. |

b

Tasy

[

(28.;y &

12 ] 2s5tem | .

pomil [T TRl ,,—/TU%-‘ 148
X im

9) You drove 90ft at 600m/hr. How long did it take you?

Goe+] (2] 250 | 1,

€o0m | { b~ J

I Min = 36 ()CDC’OCJ)N::(;

[ 1 fr

- ; | |_mig o
;i { lo* Com 17‘(13” L‘/{ Lomi {éo Sec

1yug J{o”

L
L/..Ul "“’Op;
S

10) You are driving 456ft/sec for 20hr. How far have you gone? :“;Z—;—,- 14 7
' .3
‘{5'6 ‘r‘i“ L[ i )ZS‘?CM } [ —~ ?..C’A/‘ é‘o"ho"q KCS‘-‘-’C_ — Se
St'c{ 12 -(-‘f-( }om (!c:ﬂ2 Curr g?g&_ £ a1y ms ~ 2ov0 b5,
: “ 2oy -
11) Write the following numbers in scientific idtation. « équ&,,)
1234 : 3 b) 9876000 )
a) [,27%X (© I ) 7.57¢ x-goé‘
©)0.06543 o 3 2 ‘d) 0003985 5 oy, -3
4 - 1 .

12) Establish the following ldmﬁ?g), =
a) sec{f) —tan(9) = _cos(8) ;._5‘,,) A

: } “": ") 3sin?(8) + 4cos?(8) = 3 + cos?(6) e
1+sin(@} { #—5%n TS - =7 .
. e 5\_(2{5? i T T
c)z(sec(g) + tan(8)) (sec(#) — tan(8)) = 1 d) sec{8) = sin(0) = tan{8)}
b fan =g Y Losn = Za
SCC_ _‘W?‘:( / ‘ L&—,s “+Qﬂ(/

13) There are multiple definitions of sine, cosine, tangent, cosecant, secant, and cotangent. List
out two definitions for each. If you need to invoke a triangle use the one above for reference.

?n((a)) = oprlhy, = Ge
o5 '—‘&n):/h - L
Tan{a) =, )‘? T
Pad = L
Cscla} ” Yok
Sec(a) L) éy,%_ . r
Cot{a) 74 Sin
K Wt = =
? 1



TriE — Test 6

Name: 4/17/2018
1) Find the exact value of the following trig functions. s /)_
a) cos(285°) -2 A ~£ bysin (% )‘jg‘/ JE
z o
=

C

e 225460y = cas(z{;”_)(c be) = 5ia JBys, 6 —
: N +j/_)7/_ ~ PRy e

. - i/? Ssl /‘{E‘- - -
/z - F “_Fi'vf, 4(})
. e
2'./2 2_

&/ Lr

e use several Pythagorean Identitics to establish other identities. Show how you can go from

@"} o od () = CsC () 7

3) Find the exact value of the following trig functions.
a) sin{20°) cos(65°) — sin(65°) cos(20°) \ b} cos(40°}cos(20%) — sin{40°) sin{20°)

@ $taf2er-657) S
sin( -45) =~ 2
4) Find the exact value of each of the followmg under the given c.ondltums
C/ / i sm(a)—— 0° < a < 90° & cos(f) = = —90°<[3<0° %I} :g

| ) sin(a — §) ‘

CO‘S( Yo t20) =

a) sm(a+ﬁ) \ b) cos(a + )
5!“? é\’)("‘.}j {})F 57{"?@) (lor E< ) L% (0_5 f__ 5‘4 X 5‘:’1J S"'q < CC’} /’ﬂ - 5}‘/? /!t‘_c"s &
LSS - L L1 22 L 1
I ¢zt = 5 = 3 s 2 5 3 ERE
FEREC: iy,
5) Given: cos(8) = g ’@
- ‘?-a) sin(28) ‘ ¢) sin (g) ‘ d) cos (—
2510 ) o) - T
>
J 1= 73

/e e
Cg/z‘w‘?; -y
iy

6) We use the sum and difference formulas to derive several other
sin{a + f3) formula to the sin(28) formula.

ﬁ}rmulas. Show how you cafi go from the

S S A s (o S o sia F o<
@ A%*@) 5 2( 5@ (}CH‘ Q.

= Sl Cos© + S @ os O

& fﬂ@@) - 29:‘:4(0 Cos @) v



7) Match the following identities.

£sin(a -8 /(2 sin(#) cos(8) B. cos{a) cos(f) + sin{a) sin(f)
Kcos(a +8) ﬁ’M D. sin{a) cos(B) + sin{B) cos(a)
N\ . 1-tan{a) tan(f}
L{ _C_:___tan(a + ) /E./Z cos?(8) —1 poo4 [Lcos®)
' T Tl 1+cos(@)
3 tan(a)—tani g}
&Sm('zg) G. 1+tanfe) tan( g} H. + 1+CZS(8)
E/ '5;___(:05(29) A7 sin(a) cos(B) — sin(f) cos(a) MSZ(S) —sin%(8)
E_Sin (g) K cos(a) cos(B) — sin(a) sin(B) - [ costa)
T 2
g 2 tan{f) : i€ —
H cos(3) M R zsin’(8) -1
J3
[0} = ’*,1\):3- V@ "v‘js:
8) Given: sec{®) = —V/3,sin(8) < 0. Find:
- a) sin(28) ' b) cos(28)
2 5:4@ o5 @ (05 ~ 5a’q
7% 2
™ =4 -
2% C5) -

J 2
3 T3

9) Find the exact value of the following:
| a) sin(67.5°) | b) cos(105)

i r
. :
C, _ 3o 3tsm
I 13; L)-’-)_l\h) (oS (52%?) =7 i ees{) . 1= ces 35~
o3 515
— S
1+ J2/4

5 2

2/
- ﬁ L Javs = R C®)

TidE (2-07)

- e
2. 2

h




e
Name: Mepgfzg— 1/12/2018 Trig — Quiz 13
{1 Nf sin 8 = 0.3, then find the following:

a) cos(90 — 6) | b)sinZ @ | ¢) cos? 6 | d) sec” 0
) '»?06{ - L?‘l L{iﬁ
*3 1/
2) Match the following forms with their definitions
[ w-2 A. form used by employees to inform employers of exemptions
% W-4 B. form used to report income to the state
| [O 1040 C. form used by employers to report income paid to an employee
8 ND-1 D. form used to report income to the IRS
3) Find the exact value of cach expression. Do not use a calculator.
a) tan(—120) Az by tan(12) — co78)  _ -,
ad Cosluch aq(i12)
¢) cot(40) — 22ET d) sec(35) cse€55) — tan(35) cot(657
SinA7 Se (387 Feeef35)
(oH4e) —~Ce-{w) =fo 3 .
H4e) ~CeA- (%) =[O Sec¥35) — danlssy sp

4) Find the exact value of the six trig functions.

a)a=>5,b =12 angle:a | b)a = v3,b =2 angle: 8

S 5773 £se REn -f‘-v-‘r-lﬂ )?‘;2 S 2»)3/"7 cSe ,2_.}’:%_ *‘fl-ft-? L"%
(s %3 sec 132 et 15 ters ﬁ}/ Ser - P
5) Find the reference angle for each angle. y 7 " \-E—l— e (”3/2
2) ~30° | b)_j’n i@ 3
6 (71
Q= 3" ~iy
307

/3 J;

v



Name: Morgan

1/19/2018

Trig — Quiz 14

1) Sketch the following functions. Label any important points on the graph.
a) 3sin{x)

1 b) cos(2x)

‘ ¢} tan (x-—g)

| d) sec(x)

2} For the functions above, describe the transformations done to each. If nothing was done, state
“original parent function.”

El) Lfaf-H'ca:z,-‘

,9?".14’:;&55"}

-

>

b) }lci’y"lgﬂn-f:;{' L?F"m?’zj—;‘jc'(? . _é:

ChpibR St gt

d) erigjnf,

=
Z

3) Fill in the following table about the parent functions.

Function Domain Range Min Max Period Symmetry | x-inter
Sin C—*' 0, &) E—! 3 Ij (27, 1) C‘?g?) !) 36 sty | O g,
Cos N2 L (s (o0 ¢ S| Yook 1%,
Tan a0 Sl (o) | | 7 @iy | S
Csc E2T0GA " S 9T (4 | () | 36| oy, | T
See LS i (o) | gg,) | ¢ yows |
Cot G | (-00.20) . 600 | prpan  |Toitse

4) What does ha\?ing a period mean? Qutside of trig functions, what is something else that has this

quality?

L‘) Cepetts

< (‘fﬂc/

S(J f.:,’ # '59‘

C!; (4

I




Name: Morgan 1/26/2018

Trig — Quiz 15

1) Using the triangle and the values given below, find the-ares-ef

the-teiangle. so-!:ag, Fe 4_,3;&_‘1?(‘
a
Given: o J& y a b c
AL Y 3 2,5y 3
LT 338 1 S12° | St ° ’
c) o ey & P 7 7 8
552 552 &q4.7
2} For the following trig functions, find their period.
a) sin(68) [b) 6 tan (g) c) —3cos(108)
L0 = e Q (G = 2
(/(O (4% == lge (= 3¢,
- = ﬁ’,-_. o
’ AN b) . V¢ i :':
L{) 5 ‘\R\ 5—— QAK 7 7
SC 7
; & %

2 A Fa
K= 343-23 Joo(s50)
x=8.18

S
KBS S 72257 ceies)

X= 2,54 |
sy
2L 5a8)_ sifes)
) 5 S
£

A=(1.9

o 22 =
5=7 +7 ’2-7‘7@&5(3’)
Cos¥) =+, 3 ¢q
y bt (17

.o 6L
Sin (#=3) $ia {g{)

g

>

X =



Name: Morgan

2/8/2018

Trig — Quiz 17

-2 7 Coof?
2) There are multiple definitions of sine, cosine, tang

1 \_?ve use several Pythagorean Identitics to establish other identities. Show how you can go from

qQ

e

2 b

KRR 4T3
e‘r!t‘cmé’c.anl secant, and cotangent. List ou@o_

definitions for ecach. If you need to invoke a triangle use the one above for reference.

Sin(a) = ofplhyy = esc
Cos{a) - a;{,/h,,/ 2 /e
Taﬂ(a) Ci&//g’f /((
Cscla)

Sec{a) \"lhﬁ//ﬁ
Cot(a’)

3) Establish the folltw}ﬂﬁg“/’@ema

a) (sec(8) + tan{8))(sec(6) —tan(@)) = 1

s = I
(5313_6:—— ta 5 v Fiogec®

4) Establish the following identities.
a) 1 + tan?(—8) = sec?(0)

[+ dan 2(“'3’): See QZQ-)
L Hanl8)) = see )
[ + -/zm?r(@) = 55(;1(@) /

§ I
2yt A cw ' é‘{f L S

b) sec(B) * sin(0) = tan(0)
!
Tas T2 34
=

/

b) tan{0) cot{B) — cos?(8) = sin?(§)

oS . :

G5 N Bin

Ao

{- “‘COSZ =5



Name: Morgan

2/16/2018

Trig — Quiz 18

=c’t0 1+ tan*(a) = secz(a)

3 &%

}_LJWe !
[~

a) dJ {.‘/{fc,.-l'/i, wle

];1 .f.! - ;Cj; _}sz"}f Y A

2) Give the name or abbreviation of the following units.

e severa] Pythagorean Identities to establish other identities. Show how you can go from

TS
b

¢} microsecond

A sec.

3} Establish the following identitics.

6 £ 3
2) sec(0) — tan(6) = =) c( o

4) Establish the following identities. .
a) sec*{(8) — sec?(8) = tan*(8) + tan?(8) \

J/

5’6@1_ Sec bt )

Hcmi) dfan®
f‘t\ "Q,.‘//

Foun e /

d) millijoule o

b) 3sin?(8) + 4cos?{(8) = 3 + cos?(8)

Iy

sec(0) = 2tan{@)

sin{@)
) csc(f}

cos(d)

3(1—ces *) i Yes

S, — 3(7(_.-;2_1“‘ "{c(_s;;“
> ;&’T Cti)
¢ ,;’_) 3 fCos ¢ [




Name: Morgan 3/2/2018 Trig — Quiz 20

1} Give the name or abbreviation of the following units.

a) d cleceule [bykm b e
¢) microsecond U sec l d} millijoule my

2) One Step Conversions _ :
2) 0.0723 K to J [By4dsstoms  4¥swd | o0,

. - 2 - ——

723 pie k) 107 T (zzsgfc,;-/ [ s

i k) o Fere, g-

3) Write the following (numbers in scientific notation. m
a) 0.39[/)&:}62 G.b2x s | b) 6400000, 6. i

4) Basic Conversions
} o] | b) 263500 weeks%days Ve Eﬁ.‘;‘% _;

a)28.68 cto gal| | ot 11 o

[ 2 clarlvy [ 1 wews
5) Two Step Conversions | 1:792, / ,4
a) 936800 dm to Mm | b) 587.1 Mg to pg

¢¢ j
S ¥7] xie

P 2
9365 X (G " Mm |




Name: Morgan 3/16/2018 Trig— Quiz 21

TFormulas:

cos(a + B) = cos(a) cos(f) — sin{a) sin(fB)
cos{a — ) = cos(w) cos(f) + sin{a) sin(f)
sin(a + ) = sin{a) cos(B) + cos(a} sin{f}
sin(a — 8} = sin(a} cos(fB) — cos{a} sin{f)

1) Find the exact value of the following trig functions. Co w5
o . ) 3
) cos(165°) | b) sin (%) = s (B 22T
(berts) > Cesodeal ) =sial1Dsityy] 575 ) = sin(F)eerl) ~eoAZ) ()
= = ¥= _ 5 _ 3 PR
- S T - - = T E o
~f =2 s :
TE &) -
2) Find the exact value of the Tollowing trig functions, —
a) sin{20°) cos(10°) + sin(10°) cos(20°) [ b) cos(40%)cos(10°} + sin(40°) sin(10°)
5in(3c) T —é / Cos(re) Y2,
2
3) Find the exact value of each of the following under the given conditions.
3 1 :
sin(o) = 2,0 < a < 90°&cos(B) = 5,0 < f < ~90° \E-{ ‘_\fl
3 ,
. )
a) sin(a + ) | b) cod(a + B) | ¢) sin(a — £)
(es(e) esB) —5inexsinl Z)\ sinfe) cos(8) —35:(B) cos(o)

2 —5 gy

!
572 2




Name: Morga'n/ kve?/ 3/29/2018 Trig — Quiz 23

Formulas:

cos(e + B) = cos{a) cos(f) — sin{a) sin{B)
cos{a — B) = cos{a) cos(f) + sin{a) sin{B)
sin{a + B} = sin{a) cos(fB) + cos(a) sin(fB)
sin{a — B} = sin{a) cos{f) — cos(a) sin(B)

Ge s
1) Find the exact value of the following trig functions. 2 KT
a) cos(165°%) (35 k7o | b) sin ( ) 2 4
C(.‘J')(fgs_'f“fc:):: ees {13 )Cc/{}c)-SnGSs)sm(}‘ s
5 v L L5 .
K _E 5ia(60-05) = 300 (45) — ey 5.0
= 1+ | VERES LB
[-Jc ~J3 | R
— P '
2) Find the exact value of the following trig functions. h g
a) sin{20°} cos(10°) + sin(10°) cos(20°) | b) cas(40°)_cos(10°) + sin(40°) sin(10°}
Cod -]
Sin (%) ( ) (1&-10] —
Ces{ze) = v >

‘qu

3) Find the exact value of each of the following under the given conditions.

sin({x)—gO<a<90°&cos{ﬁ)——G<ﬁ<(4}90° 3 ﬁ&k
R F y )

____,_,_,—-“
a) sin(a + B) | b) cos(a + ) | ¢) sin(a — B)
(S X con B, P Siet e
A KAE) 2 ST Tlesd s,
-<" ( * )"' < k7 's'-)((.('/S,,!P + 5-"/,?.13(_;:;,5 o i L0 ‘3 } ; R 5 Mff_'C) 51'
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Name: Morgan 4/20/2018 Trig — Quiz 26

Formulas:

cos(a + B) = cos(a) cos{f) — sin(a) sin(F)
cos(a — ) = cos(a) cos(f) + sin(a) sin(B)
sin(a + ) = sin{a) cos(f) + cos{a) sin(f)
sin(ee — B) = sin{a) cos{f) — cos{a} sin(f)

sin(28) = 2sin(#)cos(8)

cos{26) = cos?(B) — sin’(#)
cos{28) = 1 — 2sin*{8)
cos(26) = 2cos?(6) — 1

2 tan(8
tan(20) = taan(z()Q)

1- cos(ﬁ)
sm '

cos (E) 4 1+ cos(@)

6 1 —cos(#)
tan (E) =+ /1 + cos(8)
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1) Solve each equation on the interval 0 < 8 < 2x i35, ~
a) tan(g) = N b) cos(f) = —
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c) Sm(39+18) 1 d) tan(36 )=
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2) Solve cach cquanon on the i tcrval 0<8 <2n

b) sin(8) = 0.4

a) sec{f) = —4
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3} Solve each cquanon on the interval 0 < 8 <%3¢0
a) 2cos?(f) +cos(8) =0 by 2sin?(8) —sin(f)—1=0

¢) sin(28) + sin(48) = 0 d) sin{8) = cos{8
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